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EXERCISE # 1 
Q.1  

(i) 5 40 
  (ii) 8 15 

  (iii) 25  7 
  (iv) 3  5 
  (v) 5  16 
  (vi) 12  24 

  (vii) 19  11 

  (viii)  8 7 

  (ix)  3  17 
  (x) 6 5 

Q.2  
:  

  (i) x – 7 = 14  (ii) 2y  =  18 
  (iii) 11 + 3x = 17  (iv) 2x – 3 = 13 

  (v) 12y – 30 = 6  (vi) 8
3
z2


Q.3  
  (i) 3x – 5 = 7 x = 4 
  (ii) 3 + 2x = 9 x = 3 
  (iii) 5x  – 8  = 2x – 2  x = 2 
  (iv) 8 – 7y = 1 y = 1 

  (v) 8
7
z
 z = 56 

Q.4  
 :   

 (i) y + 9 = 13  (ii) x – 7  = 10 
  (iii)  4x = 28   (iv) 3y =  36 

  (v) 11 + x = 19  (vi) 4
3
x


  (vii) 2x – 3 = 9  (viii) 117x
2
1



  (ix) 2y  + 4 = 3y  (x) z – 3 = 2z – 5 

 : 
Q.5  x + 5 = 12    

Q.6  x + 3 = –2 

Q.7  x – 7 = 6    

Q.8  x – 2 = –5 

Q.9  3x – 5 = 13    

Q.10 4x + 7 = 15 

Q.11 12
5
x


Q.12 15
5
x3


Q.13 5x – 3 = x + 17   

Q.14 3
2
1x2 

Q.15 3(x + 6) = 24   

Q.16 6x + 5 = 2x + 17 

Q.17 18
4
x



Q.18 1
3
x

2
x



Q.19 3(x + 2) – 2(x – 1) = 7  

Q.20 5(x – 1) + 2(x + 3) + 6 = 0 

Q.21 6(1 – 4x) + 7(2 + 5x)  = 53     

Q.22 16(3x – 5) – 10 (4x – 8) = 40 

Q.23 3(x + 6)  + 2(x + 3) = 64      

Q.24 3(2 – 5x) – 2(1 – 6x) = 1 

Q.25 
2
1

6
n5

4
n



Q.26 1
2
m8

3
m2

 Q.27 1
2
x

2
3

5
x2



Q.28 
5
x22

5
3x




Q.29 144
10
x3



Q.30 3x)1x(
4
3


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ANSWER KEY 
1.  (i) 5x = 40   (ii) x + 8 = 15  (iii) 25 – x = 7     (iv) x – 5 = 3  (v) 3x – 5 = 16  

(vi) x – 12 = 24 (vii) 19 – 2x = 11  (viii) 7
8
x
  (ix) 4x – 3 = 17 (x) 6x = x + 5   

2. (i) x  7 14 

 (ii) y 18 

 (iii) 11 x  17 

 (iv)  x  3 13 

 (v) y  12  30  6 

 (vi) z 3  8 

4. (i) y = 4    (ii) x = 17   (iii) x = 7 (iv) y = 12  (v) x = 8  

(vi) x = 12 (vii) x = 6    (viii) x = 8 (ix) x = 4 (x) z = 2 

5. x = 7     6.  x = – 5   7.  x = 13  8. x = –3  9. x = 6 

10. x = 2    11. x = 60   12.  x = 25  13. x = 5  14. x = 
4
7

15. x = 2    16. x = 3   17.  x = 36  18. x = 6  19. x = –1 

20. x = –1    21. x = 3   22.  x = 5`  23. x = 8  24. x = 1 

25. n = 66    26. m = –54   27.  x = –25  28. x = –13  29. x = 60 

30. x = 9 
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EXERCISE # 2 
Q.1  9 

 36 

Q.2   4  11 

89 

Q.3   5  80 

Q.4  114 

Q.5   17 

4  225 

Q.6   5 

 50 

Q.7  

 18 

 92 

Q.8  

124 

Q.9  

132 

Q.10 74 

Q.11 21 

Q.12  6 

 28 

Q.13 

11 

Q.14  27 8 

Q.15  4 

16 

Q.16 

Q.17 16 

Q.18 32 8 

5 

Q.19  25-  50-

30  25-

50-

Q.20 

17 
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Q.21 

 334 

 572 

Q.22 

 168 

Q.23 5 

 74 

Q.24 86 cm 

7 cm 
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ANSWER KEY
1. 27    2. 25   3. 20   4. 37, 38, 39  5. 13 
6. 15    7. 37, 55  8. 31, 93  9. 33, 165  10. 36, 38 

11. 5, 7, 9 

12. = 11  = 17 13. 22 , 11 

14. 46 , 19 15. 32 , 8 

16. 45 , 15 17. 8 

18. 18 19. 80  20   

20. 8.50           21. 119    

22. l = 63 m, b = 21 m        23. l = 21 m, b = 16 m     

24. l = 25 cm, b = 18 cm 

.    




